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Internal Assesment Test -2
Sub: Kinematies of Machines Code: 18ME44
Duration: 90 ming ~ Max Marks: 50 Sem: 4 Branch (sections). ME (A,B)
Question 1 is compulsory and answer any THREE questions from part B, Good luck!

Date: 2470612021

OBf
PART A Marks () [ AB1

1 D W 10 full size the profile of a cam which will give a lift of 38 mm o a follower
carmying a roller of 25 mm diameter. The axis of the follower is offset by |8 mm to the [20]
right of the axis of cam. Ascent of the follower takes place with SHM in 0.05 second coOs 1.3
fo"?“'ed by a period of rest 0.0125 second. The follower by then descent with UARM
during 0,125 second, the acceleration being 3/5 times retardation. The cam rotates in
clockwise direction at a constant speed of 240 rpm and the base circle radius is 50 mm.

PART B P
= Derive an expression for length of path of contact. [10] | €03 1.3 |
3 Explain with neat sketch i) Simple gear train, ii) Compound gear train, (10] o

iii) Reverted gear train and iv) Epicyclic gear train Coa ke

Two gear wheels mesh externally and arc to give a velocity ratio of 3. The tecth arc of

'""°|“}°. form of module 6 mm and standard addendum one module, Pressure angle = {10}

'3° - Pinion rotates at 99 pm. Find i) Number of teeth on cach wheel so that interfercnce

15 Just avoided ii) Length of path of contact, iii) Length of arc of contact iv) Maximum COR 11
veloeity of s) iding between teeth, v) Number of pairs of teeth in contact.

Two mating spur gears with module of 6.5 mm have 19 and 47 teeth of 20° pressure

angle and 6.5 mm addendum. Determine the number of pairs of teeth in contact. Also (10} CO3 L3
determine the sliding velocity at the instant i) engagement begins ii) engagement

terminates. The pitch velocity is 1.2 m/s.
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